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BCM /A-16
BUSINESS STATISTICS
Paper-IV
Time allowed : 3 hours] [Maximum marks : 80
Note : Attempt five questions in all, by selecting at least one
question but not more than two questions from each unit.
All questions carry equal marks.
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Unit-1 (3%5E-1)
1.  Explain the functions, importance and limitations of statistics.16
gifegs & 4, 7e@ A dmel H o B 16
2. (a) Whatisastatistical average ? What are the properties of
an ideal average ? ; 8
qifadE oed 71 2 ? oF AR oiea & SEwd T B
g8 8

An incomplete frequency distribution is given below :

Variable | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
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frequency | 5 8 — 16 6
Find the missing frequency when median is 28. 8
T Al g R Rar mn B g@ oy O & oW
qiitaH 28 B 8
ELd 0-10 | 10-20 | 20-30 | 30-40 | 40-50
g 5 8 — 16 6
PT.O.
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3.  Calculate Karl Pearson’s coefficient of correlation from the
following : 16
X
Y 18 19 20 21 22 | Total
0-5 = = ~ cli=d 1 4
5-10 - - - 3 2 5
10-15 - - 7 10 — 17
15-20 - 5 4 - - 9
20-25 3 2 - - - 5
Total 3 7 11 16 3 40
Frtferfad siidet & @t faw & gegee e fraRa 16
X
Y 18 19 20 21 22 7l
0-5 = = e 1| 4
5-10 - — - 3 2 5
10-15 - - 7 10 - 17
15-20 - 5 4 - - 0
20-25 3 2 — - - 5
F 3 7 11 16 3 40
4. Youare given the following data about sales and advertisement
expenditure of a firm :
Sales Adv Expenditure
(Rs. Crore) (Rs. Crore)
A. M. 50 10
S.D. 10 2
Coefficient of correlation ‘r’=0.8
21110
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(i)  Calculate two Regression equations
(i) Estimate the likely sales, when adv. expenditure is
Rs. 13.5 crore.
(i) What should be advertisement budget if the company
wants to achieve a sales target of Rs. 70 crore ? 16
el o & fasios waq el ol & AR F vl Feiatad e
R

festa fommee @

(5. 7 (5. %)
A.M. 50 10
S.D. 10 ap 2

geday # 0E ‘v’ = 0.8
(i) A gdheTE EliEr aa we
G) o s o 13.5 F0E 9 @E U ol @ R @

IFFAF T |
(i) AR T 70 FU3 R B P T AT A BN A=A 2
& R awe @@ A ARy ? _ 16

Unit-II (3%E-11)

What are Index numbers ? Explain various problems faced in
the construction of index numbers. 16
aHih F1 B & ? gawE B N B A B awene @ g
HEAT = 8 7 16
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6.  Calculate Fisher’s Ideal Index number from the following data. : .q.

Show that it satisfies both the Time Reversal and Factor

Reversal Test. 16
1883 1984
Commodity Price Expenditure Price | Expenditure
A 8 80 10 120
B 10 120 12 9
L 5 | 40 5 50
D < 56 3 60
E 20 100 25 150
forr awat & fRer omedl gasi® 19 HT A1 REd % 98 gEsi® 8.
Y I T A Sobedl Gler A4t B uRge Ha e 16
1883 1984
ayg kSl . 2 T )
A 8 80 10 120
B 10 120 12 9%
C 5 40 5 50
D 4 56 3 60 9
E 20 100 25 150

B
¥

(3)

Calculate trend values by 4-yearly moving average method for
the following data : 16
Year TR 1982 198 1984 1985 1986 1987 1988

Production (‘000

) B B 15 n B N U 7

Plot the original and trend values on the graph paper.

ﬂﬂﬁ@mﬂﬁ@mﬂ%ﬂﬁﬁmﬂﬁﬁ%ﬂd&%
gt A A A B 16

a

O8] 1982 1983 1984 1985 198 1987 1988

g B B 5 A B D A T

Qe 9 IR g A% 0 T Sk |
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Unit-I11 (3%E-111)

State and prove addition and Multi plication Theorem. 8

A gl A T g b e 7 RS F | 8
A bag contains 6 white and 4 Red balls and four balls are
successively drawn out and not replaced. What is the
chance that they are alternatively of different colour? 8
ﬁw@moﬁﬁ%p%ﬁwﬁmﬁﬁ}@ﬁ%
Pyt i A dfveii w@ @ T AR A § O F 9
wh ST T A Pl Wi S| 8

A manufacturer of bulb knows that on an average 5% of
his production is defective. He sells bulbs in boxes of

100 pieces and guarantees that not more than 4 bulbs

PT.O.



(b)

10. (a)

(b)
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- (6) i
will be defective in a box. What is the probability that a
box will meet the guarantee (e =0.0067). 8
% g0 IS H AGad G0 IARET 5% 2198 3¢ 100
$ 9 H I 8 oY MM A B 6 oum 9§ 48
A Ivd @ AE 20| g B ME qU B Bl AAbd
& ? (AR e =0.0067 &) 8
A problem in statistics is given to three students A,
B and C whose chance of solving are + Land i

respectively. Find the probability that the problem will
be solved. 8

= sEt A, B @n C & o qies! &1 999 &7 &9 & R
T2, B B9 FR P GEEAN A 3, 3 T & FI g

B & B B AR T B 8
Explain the properties of Normal Distribution. 8
A faaer & 7 S | 8

Net Profit of 400 companies is normally distributed with
amean profitof ¥ 150 lakh and S. D. of ¥ 20 lakh. Find

the number of companies whose profits are : 8
(i)  Exceeding¥ 175 lakh
(i) Between<100 lakh and ¥ 138 lakh

(i)  Also find minimum profit of top 15% companies.
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(7)
400 FEl & = @9 B A A B AR e
150 @@ 593 4 g feee 20 @ 593 B i
Heg 7| Hifor, R @ 39 g @ 8
@i 175 9@ 5w 8§ AUH

) 100@m@ 59 9 138 /@ ¥74 3 d=
(i) 15% o FfE & gFad @ S s Hifn |



